=0 8
0 AN

XR - PEOYKTUBEH ®JIAHELl
XR - TAPERS FLANGES

BUREAL VERTAS

Code KAZ No. 09152

* HamanuTenHuAT qnaHel No3BONABa 3HAYMTENHO HAMANABAHE HA HOMMHAMHWA AMaMeTep i * T_he pressure '_"EdUCi”Ei flaqge allows for SEJDS‘E'”“E“ reduction of the nominal
& MHOr0 NPaKTHYEH Nopaau obiLaTa i Kbea ObITKMHA diameter and is very practical because of its overall short length

* Paamepu B choTeeTcTBME ¢ EN 1092-1:2007+A1:2013/AC: 2014 Dimensions in accordance with EN 1092-1:2007+A1:2013/AC:2014

* Matepuan: ctomana 5235JR Material: steel S235JR

* [loumnroBaxu bonTose B choTBeTcTEME ¢ DINSTS Zinc plated bolts in accordance to DIN975

* PabotHo Hangrade: PN10 u PN16. Working pressure: PN10 and PN16.

* 3aluTa Ha NOBLPXHOCTTA Ha enokcuaHa Bos oT Mud 250um Wnk TepMonnacTU4Ha, Epoxy paint surface protection of min 250um or thermoplastic confirmed by an

NOTELPAEHA OT aKpeaMTHpaHa Nabopatopua, W3ganeHa cepTubuKaT 3a 3ApaBHa MHCNEKUKA accredited laboratory issued health inspection certificate
! [ | W [» WM 4] k | w  0M |
KRR AR AR
10 10 16 16 10 16
60 40 A 30 135 4 M16x50 - 110 4 M16x50
60 50 A 30 135 4 M16x50 - 125 4 Mé5x50
65 50 A 30 145 4 M16x50 - 125 4 M16x50
80 40 A 30 160 8 M16x50 - 10 4 M16x50
80 50 A 30 160 8 M16x50 - 125 4 M16x50
80 60 A 30 160 8 M16x50 - 135 4 M16x50
80 65 A 30 160 8 M16x50 - 145 4 M16x50
100 40 A 30 180 8 M16x50 - 10 4 M16x50
100 50 A 30 180 8 M16x50 - 125 4 M16x50
100 60 A 30 180 8 M16x50 - 135 4 M16x50
100 65 A 30 180 8 M16x50 - 145 4 M16x50
100 80 A 30 180 8 M16x50 - 160 8 M16x50
125 40 B 25 210 8 - 19 110 4 M16x50
125 60 A 30 210 8 M1 6x50 - 135 4 M16x50
125 65 A 30 210 8 M16x50 - 145 4 M16x50
125 80 A 30 210 8 M16x50 - 160 8 M16x50
125 100 A 30 210 8 M16x50 - 180 8 M16x50
150 50 B 25 240 8 - 23 125 4 M16x50
150 &0 B 25 240 8 - 23 135 4 M16x50
150 65 B 25 240 8 - 23 145 4 M16x50
150 80 B 25 240 8 - 23 160 8 M16x50
150 100 A 30 240 8 M20x60 - 180 8 M16x50
150 125 A 30 240 8 M20x60 - 210 8 M16x50
200 50 B 25 295 8 12 - 23 125 4 M16x50
200 60 B 25 295 8 12 - 23 135 4 M16x50
200 65 B 25 295 8 12 - 23 145 4 M16x50
200 80 B 25 295 8 12 - 23 160 8 M16x50
200 100 B 25 295 8 12 - 23 180 8 M16x50
200 125 B 25 295 8 12 - 23 210 8 M16x50
200 150 A 30 295 8 12 M20x60 - 240 8 M20x60
250 50 B 30 350 20 12 - - 23 28 125 4 M16x50
250 65 B 30 350 355 12 - - 93 28 145 4 M16x50
250 80 B 30 350 355 12 - - 23 28 160 8 M16x50
250 100 B 30 350 355 12 - - 23 28 180 8 M16x50
250 125 B 30 350 355 12 - - 23 28 210 8 M16x50
250 150 B 30 350 355 12 - - 23 28 240 8 M20x60
250 200 A 30 350 355 12 M20x60 M24x60 - - 295 8 | 12 M20x60
300 100 B 30 400 410 12 - - 23 28 350 355 8 M16x50
300 150 B 30 400 410 12 - - 23 28 350 355 8 M20x60
300 200 B 30 400 410 12 - - 23 28 350 355 8 | 12 M20x60
300 250 A 35 400 410 12 M20x60 M24x70 - - 350 355 12 M20x60 M24x70
350 250 B 40 460 470 16 - - 23 28 350 355 12 M20x60 M24x70
400 200 B 40 515 525 16 - - 28 31 295 8 | 12 M20x60 M24x70
400 250 B 40 515 525 16 - - 28 31 350 355 12 M20x60 M24x70
400 300 B 40 515 525 16 - - 28 31 400 410 12 M20x60 M24x70
600 450 B 50 725 770 20 - - 31 37 565 585 20 M24x70 M27x80

MocoYenuTe No rope NPOAYLETH Ca CaMo 33 cnipaeka. [IPoN3BOJWTENAT CH 3aN33Ea NPABOTO A3 NPOMEHA NPOSKTUPAHETO, EOHCTPYELMATA, CNEUNUEALMATA De3 NPEAUIBECTHE NN OTTOBOPHOCT.

office@vodkom.bg



